LA TOULOUSAINE

Manual
No. 7375

09/24

INSTALLATION

[you

t
ijmmnall

P —
g
-1

S -

Sliding gate
MECA’CLAV

Manual or Motorized
on existing posts

(Document reserved for installers)

lusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordan ith product changes.



LA TOULOUSAINE Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Contents

TS 1 LA TeT T o 1 { (ULt o T 1P SR PPRRRP 3
211 fo] F I a1 =] | =T To T o OSSP P TP PRSPPI 3
AN TT0T T TV =T LU 1 4 =T o N 3
Check the WOrKSIte QIMENSIONS. .....ciiiiiiii et e e st e e e s sba e e e e sabaeeessabeeeesesssseeessnasseeessnssneessnnns 4
Check level 0, plumb and posts @liGNMENT.......cccuuiii i e e e e e e e e e e s e nsaeeeenes 4
A AV T T= e L= Y= - [ o USSP 4
[ I 1 - 4 o o PSPPSR 5
Position and fiXx the SUIAING Fail ... e e e e e e e e e e e e e ettt e e e e e e e e e e aabtaaaeeeeeeesnsraaaeeaaeeaaans 5
G T Ko ) oI V] (o [ o T s oY X< o 1T V=l oo 1y SRR 6
A AT Yo g Yol o I < ol e V=Y USSP 6
Install the gate 0N the UIING il .........eeeiiiii i e e e e e e e e e et e e e e e e e e s e aabtareeeeeeeesnsraaaeeaaeeaaans 7
Check the plumb of the gate and clip the tOP SUIAE CAP...eiiiicuiiii i e et e e e are e e e e rae e e e e 7
Assemble the handle (MANUAT ZAtE) .......uiiiiii ettt e e e et e e st e e e bae e e abeesabaeessbeesbaeessseesssaeesaeesnreenn 8
Position et fix the StOP 0N The ClOSING POST ...vviii ittt e e et e e e e et e e e e eabe e e e e eata e e e e enbaeeesenneeeeennneeas 8
FAYe IO A g I Yol =Y gl «To ) PRSPPI 8
POSItion and fiX the OPENING STOP .viiiiiiiiie e e e e e et e e e e ettt e e e e eabae e e eeataeeeeenbaeeeeantaeeesasbaeeeennseeeeennseeas 9
L g aTe Y Lo ] g7 2=To I == | ISR 9

09/24 This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 2



LA TOULOUSAINE Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Installation instructions

/\ CAuTION! M\

To ensure that this product is assembled, used and maintained in complete safety,
it is important to follow the instructions provided in this document.
For everyone’s safety, please adhere to the precautionary measures below.

e Before beginning the assembly, read this manual carefully.
e This closure must be installed by a professional technician.

e All the parts delivered are specifically sized for this product.
Adding and/or using other parts may be detrimental to safety and may affect the product's warranty.

e Any modification or improvement of this closure must be compliant with the standard EN 13241 + A2.
In this case, a " Modification/Transformation " file must be created by the installer as per the standard
EN 12635 annex C.

e Carry out work in accordance with the safety instructions.
Use the appropriate tools to install these products.
Ensure that all the work is carried out on a stable floor.

e Ensure that the assembly area is clear, clean and clearly marked out.

e Ensure that no other people are present at the assembly site apart from the installers.
Non-authorized persons, such as children, who are present at the site, risk injury during assembly.

e All the components of this closure must be installed in compliance with the installation instructions provided
in this manual.

e All the requirements of the standards EN 13241 + A2 must be met and verified, if necessary.

Before installation

Necessary equipment

Spirit level Plumb bob Laser level Tape measure Pencil Utility knife Cordex

Screwdriver Perforator Steel/Concrete Allen key Flat wrenches Phillips Burin
with bits drill bits screwdriver
@ Screws
and dowels
adapted to

the supports

Hammer Mallet Grinder Rivet gun Wooden shims Sockets

09/24 This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 3




LA TOULOUSAINE

Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Check the worksite dimensions

Width

|<¢———— Height ———

e Check the widths between the posts.
e Check the heights of posts under hat.

|<¢——— Height ——— |

Width

-

Chec

SR

k level 0, plumb and posts alignment

Post at bottom of slope »

Level line
s

Note : Ensure that the threshold is leveled correctly.
If you feel the threshold is too irregular or sloping, do it again.

] .

Wiring diagram

— EXAMPLE : Motor on the right I—Il
(If motor on the left, reverse the layout)
Orange light 3x1 mm?2 ——p]
Antenna @5 mm, length 8 m >
AUse the manual of the adapted motorization
Receiver cell Emitter cell Motor
2x0,75 mm?

Receiver cell 4x0,75 mm?

Motor power supply 230V 3x2,5 mm? —p»|

09/24

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes.




LA TOULOUSAINE

Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Installation

IMPORTANT, before the installation of the gate :
Check the worksite dimensions, level 0, plumb and posts alignment ;
detailed in the previous chapters.

Position and fix the guiding rail

Outward leaning post Inward leaning post

Straight post

Street
view

>

Street
view

Street
view

>

Rail Rail Rail
—>| |<—50 mm —>| |<—50 mm 50 mm—>| |<—
Closing post Opening post
Opening side

Assembling the rails

Junction pin

Post aligned rail

]

Fix the guiding rail starting from the closing post with @8 mm dowels and suitable screws (not supplied).

09/24

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 5



LA TOULOUSAINE Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Fix the top guide on opening post
Use the M8 hitting dowels or chemical seal with suitable screws (not supplied).

Straight frame gate Shaped frame gate
Short top guide

|

Street
view

( ) Street

[D— view :

Overall height (height shown on your order)
Overall height (height shown on your order)

e —

Note : If the post is leaning outward at a significant angle, use shims for the top guide accordingly.
(The top guide can absorb a false plumb up to 20 mm).

Riveting the caster covers

Wide head rivets
4,8x16 (supplied)

09/24 This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 6



LA TOULOUSAINE Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

&

Install the gate on the guiding rail
Straight frame gate Shaped frame gate

Long top guide 7

|
|
|
|

Check the plumb of the gate and clip the top guide cap
Cap

Guiding rollers

To avoid swaying of the gate,
adjust the rollers in opposition
while checking the plumb ;
then block them.

4 v/ d}

09/24 This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 7




LA TOULOUSAINE

Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Assemble the handle (manual gate)

Reduced handle Standard handle
Outer sih

Cover

‘ Self-drilling screws
TF @4,2x25

Position et fix the stop on the closing post
Use the M8 hitting dowels or chemical seal with suitable screws (not supplied).

Manual gate : Closing stop
at the level of the lock
ir s b

i S/ S S S
— u /// / //1
1 ‘// / // |
/"/ // / /// / |
/ 4 {

g ’.I J‘
- 3

Motorized gate : Closing stop
at the level of the centering finger

/

A0

Aln the sense of the closing stop

Adjust the receiver box
Top view
Check for closing of the gate,

before tightening the nuts. Then close the cache

Supplied

|
I

Screws : TH M8x25
Washers : M8

Can be adjusted
with 1 screw

Screw : TFC M3x5

Supplied

09/24

This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 8



LA TOULOUSAINE

Installation_Sliding gate_ MECA’CLAV_Manual-Motorized_Existing posts_No. 7375

Position and fix the opening stop

o |

Opening post

Use the M8 hitting dowels or chemical seal
with suitable screws (not supplied).

Then close the stop cover.

(RN
/l‘&'i'r‘/'/‘;';l:\','
Screw : TFHC M5x20
Screw : TFC M3x5 \
N Supplied Supplied
If motorized gate

Refer to the installation manuals of the motors used.
09/24 This document is the exclusive property of FTFM La Toulousaine and must on no account be copied. The document may be modified at any time in accordance with product changes. 9



	Installation instructions
	Before installation
	Necessary equipment

	Check the worksite dimensions
	Check level 0, plumb and posts alignment
	Wiring diagram
	ExAmple : Motor on the right

	Installation
	Position and fix the guiding rail
	Fix the top guide on opening post
	Riveting the caster covers
	Install the gate on the guiding rail
	Check the plumb of the gate and clip the top guide cap
	Assemble the handle (manual gate)
	Position et fix the stop on the closing post
	Adjust the receiver box
	Position and fix the opening stop
	If motorized gate


